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In a certain code ORGANISE is
written as BHSPDRHM,V How is
DESTINED written in that code ?
(A) SRDCCDHM

."(B) S‘RDCE_FOJ

(C) UTFECDHM

(D) UTFEEFMH -

‘How-many such pairs of letters aré |
-~ inthe word DOUBTS each of which’
hasas many letters between them in ,-

" the word as in the Engllsh_

 alphabet?
1 (A} None
(B) One
©) Two
_(D)r Three

If RED s coded as 6720 then how
would GREEN be coded ? '

(A) 1677199
®) 1677209 .
©) 1671 72000
() 9207716 "

If GOLD is coded as HOME, COME

is coded as DONE, therefore If
CORD is coded as DOSE, how

would SONS be coded ?
{A) TPOT

- OY-2A/30

_(B)  Norty-West

- {(B) TOOT.

(C) TOOS

(D) TONT

. - Find the next term of the series ;

12,23 67, 265 —

(A 1321

(®) 1325
(©) 1318
(D) 1307

'Q's mother is the sister of P and

daughter of M, Sis the déughter dfP
and sister of T. How is M related to
o _ :

(A) Father

(B) Grandfather

. " ©) Grandmothqr e
(D) (Bor(C) - -
7. Aman |sfacmg South. He turned 135

* 'degrees in"the anti- clockwise

: dlrectlpn and then 180 degrees inthe

cioc.kwis‘e di,réction. Which diregtion

is he facing now ?

(A) North-East

i L A )

(C) South-East .

(D) South-West

| Contd.




. 10.

Who has been named as the

8

 Chairman of Mahanadi Water

Disputes Tribunal constituted to‘r
adjudicate the 'dispute between

Odisha and Chattisgarh ? |

(A Indermeet Kaur Kochhat

(B) Rajeéh Kotecha

(C) Ravi Ranjan' |
(D) . AM Khanwilkar

9. * Who authored the book on
- Paramveer Chakra Awardees

Paramveer Parwane? -

(A) SomnathSharma,

(B) Pr,abh'akiran Jain .

(C) AmanAnand
(D) _Bipip Rawat n |

Which'Cricket Board recently

launched a book, titiled “A Tribute

to Jagu”, in a tribute to former BCCI

President Jagmohan Dalmiya ?

(A) SrilankaCricket, .
(B) ‘Board of Controi for Cricket in
India

" (©) | Bangladesh Cncket Board

-':(D) CrlcketAustraha

11.. Who amongst the following recently
became the new brand ambassador
of Vivo, a chinese mobile company ?

A) Deepika Padukone

(B) Aamlr khan- |

OY -2A/30

12.

(C) ViratKohii
(D) Arjun Kapaor

Who has won the 2017 Laureus -

" - World Sportsman of the Year and

13;

Comeback of the Year awards ?
(A)" Roger Federer |

-~ (B) ViratKohli
" (C) M S Dhoni

(D) Cristiano Ronaldo

- Aman s facihg East. He turnsby 220

- degrees anti- clockwise and then

(D)
14,
18.

A
(B) DITNTMP

(3)

(D)

" turned 265 degrees ciockw13e In
which direction is he facmg now ?

(A)
(B)
(C)

‘South-West
| Sodth-East
North-East
‘North-West

My mother s father's only son- in-law
Aw;ll be related to me as:

T w

Uncle '

Father

Bret'hef .

Data insufficient -

(8)
(C)

In a certain code if COLLEGE is

- coded as MPOKFHF, then how is

SCHOOLS coded in the- same
language ?-
IDTNTMP

IDNTTMP
IDTNTPM

()
(D)

(Turn over)




16

Anand finds that he is 40th from the
right end in a line and 30t from the

leftend. How many persons arethere

inthatrow ?
A) 70
(B) 69

C© 7

T

18.

19.

(D) None of these . |

Introducing aman to her husband, a

20.

21.

‘woman said, “His brother’s fatheris

the only son of my grandfather.” How

is the woman related to this manl ?

(A Mother

(B) Aunt
(C) Sister -

' ‘(Dj_ ' ‘Daughter

Which among the followmg socua[

reformer’s birth anniversary will now -

be observed as Social Justice Day_

across India ? 2
(A) Dr.BRAmbedkar

" (B) VinobaBhave -~ "

(C) SwamiVivekananda .

(D) -Raja Ram‘Mohan Roy .. -

‘~'Enwronmental Protectlon Act came
into force in: o

(A) 1986
(B) 1987
(©) 1988
(D) 1991

OY - 2A/30 -

23.

(4)

22.

‘The mountain pass located in
.. Himachal Pradesh s :
(A Zojila

(B) Nathula

. (C) Jelepla = .
(D) Shipkila -

Recently, who among the given gets
additional charge of the Civil Aviation
Miniatry by the President Ramnath
Kovind; in accordance W|th the
advice of the Prime Mlnlsfer ?"

(A) Nitin Gadkarl
(B) Suresh F_’rabhu

(C). Dr’Harshvardnan
(D) " Arun Jaitley

Name the Indian ace bill__farc_is player

who has. won the 2017-18 Asian
Billiards Champion in billiards ?

(A) Aditya Mehta

(B) PankajAdvanievian () '
.:(C). BBhaskar '

(D) Manan Chandra .

Who among the given has clinched ..

gold in women’s 10m Air Pistol event

'~ atthe International Shooting Sports
“Federation (ISSF) Junior World in

Sydney,AUstralia-? | L
(A) Mahima TurhiAganval

(B) ManuBhaker S
(C) Devanshl Rana "~~~ '™

(D) Manisha Keer

~ Contd. -




24.

@

25.

26.

27.

ov-2AQ0

(M

A

;(B)
(©)
o

WWhich one of the following is correctly’

RBI has announced to disallow
banks to use which of the following

instruments as tradé‘credit_for |

imports 7 -

Letters of credit
(2)
3)

Bank guarantees .’ -
Letters ofuhdertéking ’
Letters of cofnf_ort '

(A) 1and2

(B)_,.zands -

(C) 3and4

(D) 1and4

Wh[ch state is hosting the 7th edmon

- 28,

of the Women Science Congress

(WSC-2018) ?

i

Punjab

West Bengal
(8) |
(C)
D)

The colour of the rambow dwldes mto

‘Manipur

Halyana, e

~ seven colours dueto:

(A) Reflection
Diffraction -
Refraction

Dispersion

matChed ? TR TR T BF RS TR

et

20,

.30,

(A) Citizenship Part 3 of the

Constitution .

(5).

(©)

(D)

‘What is India’s rank out of 156

™
" (B)

- {B)

(B) Panchayati Raj Part 4% of the

Constitution
Co-opérativé Societies Part
4 of the Constitution

States Part 6Mofthe COnstitufidn

countries on the World Happiness
Report, ‘released by U. N.
Sustainable Development Solutions

Network ?

g (A) {24
(B)

(© 148
@ 17

133 '

VI

World Consurner Rights Day was

“Makmg Dlgltal Markets Fatrer”
Mar 15 |

‘Mar 18 .

Mar 19 .

©) L
Mar16

(D)
The Constitutional Amendment Act

that has introduced safeguard
against the misuse of prociamation

" of national emergency is the :

A ‘42"dAmendmentAct
434 AmendmentAct
44 AmendmentAct

45 Amendment Act

(©)
()

(Turnover) .
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- 31,

. 1 5th Finance Commission- recently

held its first meeting with the

members of the Parliament. Who is

the Chairman .of the 15t Finance
‘Commission?

(A) HasmukhAdhia-

" (B) Shaktikanta Das

32.

33,
©on hostlng Intematlonal Football from

34.

(CG) NKSingh
(D) S8 C Garg

The food is cooked faster in a

* pressure cooker because ;

"(B)" Northto South-

(C) SouthtoNorth

. (D) EasttoWest

(A). The pressure insid'e‘the,bob,ker '

is less

(B). The préssure inside the cooker

is more

(C) Ofthe shape of cooker
(D) None ofthese-

FIEA hés lifted its three decade ban

which country ?

A) Irag

(B) Nigeria"

(C)_ Pak_istan

(D)l Sudan

Earth isa very big magent. In which
direction does its hagneﬁc'fie!d
extend? |

(A) WesttoEast

QY -2A/30

(6)

35..

36.

37.

38.

On'which river is Hirakud Dam-

located ?

(A) Cauvery
(B) Mahanadi

- (C) Godavari
- (D) Krishna.>

Ty :'-"t‘y’e

Mahatma Gandhi began'his Dandi
March in :-,

. (A) March 1920
~ (B): April 1940

(C) March 1930
(D) August 1942

Atticle 370 of the Constitution of'

Indian relates to

y o Vi
(A) Sikkim |
(B) Jammu and Kashmlr
(C) Assam

(D) Nagaland

Which vitamin helps in c[otting.of '

blood ?

(A VitK

® Via

ST o e

(C) VitD

(D) VitE

. Contd.
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39. OnMarch 22nd 2018, where was the

40.

41.

successful test of the world's fastest

 supersonic cruise missile BRAHMOS

conducted ?

| (A) Jaisalmer

(B) ' Chandipur
(C) Pokhran

(D) BayofBengal

Whatis the theme of the 2018 World
Water Day (WWD)?:.. i,
(A) Whywastewater

(B) Nature for water

A (C) Water is life

(D) Better water better jobs

_Arrange the following in the

chronological order : |
(1) ~ Dandi March

(2) Simon Commissmn
(3) - Poona Pact’ |
(4) Gandhi frwin Paict

A 2,1,34

(B) 2, 1,‘4,I 3

. (C) 4,3,1,2

(D) 4,3,2,1

42,

BRICS is the acronym for an -
association of five emerging national

economies. Which of the following is

" notits member? .

(A) Russia
(B) China,

OY~2A/30

43,

44,

(C) Bangladesh
(D) India

Which country has announced to

‘withdraw from the Internat[onal

Criminal Court (ccy?

" (A) Cambodia
" (B) Philippines

(C) Myanmar = -

(D) ' Indonesia

Unique [dentification Authority of India
(UIDAI), introduced a ‘BeatAadhar’
card for children below the age of ;
(A). Syears |

(B) . 7years

(C). 9years

(D). 10years .

45,

46,

Indians were given representation in

the Vicerey’s Executive CGouncil for
.-‘thefrsttlme | | o
"(A). Morley Minto Reforms
: (B) Indian CounCIlAct, 1909

(C) Both (A)and (B)

(D) The GovernmentAct, 1935'

Which one of the following is a fungal

‘disease ?

- A Leuco_derme

(B) Eczema

~(C) Ringworm

(D) Elephantiasis

(Turn over)
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47.

48,

Where was Indla s first 0|I reftnery
started 7 -

(A) Assam

(B) Gujarat
(€} Mumbai
(D) Chennai

Who was the other congress'leader
who joined with Motilal Nehru to start

a the Swaraj Party in 1923 7

49,

 to cut its greenhouse emissions 7 -

(A) GKGokhale

(B) BGTiak =
(C): Chittaranjan Das |
(D) MKGandhi -

Which country has fécéhfl_y declared
to imhpose a ‘carbon tax’ from 2019

S (Y | Indian

50.

(B) Singapore

(C) Malaysia ..

(D) Jdapan -

The proposal for the Creéfibn of new
All India Services canbe conSIdered '

only: o o )
(A) I_f ‘t‘he majority of state

legislatures make such demand
(B) If the Rajya Sabha passes a
. resolution by two- thtrd majority

| (C) 'If the Lok Sabha- passes a

resolution by two-third majority

. (D) Noneofthese

OY 2A/30

51.

52,
. -space ?

g3,
introdiided for the first time in India
in: '

Who has been riamed ‘Crickéter of
the Year in the sixth edition of
Wisden India Aimanack ?

(A)' Rishab Pant

(B) Shardul Thakur
(C) Yuzendra Chahal
(D) KLRahu

Who was the first woman to go in |

PAFLIPLM IRt J,L\

- (A) Valentina Treshekova

(B) Junko Tabei

(C) Astella Peron -
, (D)A"_Noneofthese

The ‘communal electorate was -

(A) 1906 |
B 1809 v
©) 1919

(D) 1936

54,

PM Narendra Modi recently
inaugurated the 105th Indian Science

Congress, on the focal theme

“Reaching the Unreached through
Scnence and Technology in;

' (A) itanagar

('B )i A Q'SP STV ALTeNS

(C) Shlllong ‘
(D) Imphal

Contd.
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55

57.

Wthh of the followmg is not a
: quahtatwe credit control of the RBI ?

. (A) Fixing marginal requirements

(B) Variable interestrate
(C). Open matrket operations -

(D) . Credit rationing

- Which mineral is found in greatest |
_quantity in India amongst the

following ?

(A) ‘Uranium
@) Platinum
(C) Thorium

(D) Radium

Kedarnath Singh, 1hé renowned poet

' has. passed away. He ‘was

58,

assocuated with which Ianguage ?

A) Urdu
B) Odia
(C) Tami
-(D) Hindi .

St Ly

' Whnch country has conducted the
world’s firstever blockchain ipowered

: presidental elections 7
(A Algeria o

() Peru
(C) Gabon

(D) Sierraleone

59.

Recently Nanda Bahadur Pun re-
sworn in as Vick: p‘ﬂe%mde?\t of which -
~ of the following countries?

(A) Bangladesh

! OY 2A!30

60.

.61

62.

(B) Srilanka

C) Myanmar-

(D) Nepal -

As per the World Bank’ ‘Indla
Development Update', what is the

rank of india among 115 nations
using GST interms of the highest tax

rates? - -

@) ot

(C) - Sth
o 1

Who among the followmg Bollywood

) _ﬁlmmaker is set to become the first
_director to get a wax. statue at the

well-known Madame Tussauds ?

(A) Karan Johar
(B) Rajkumar Hirani
(C) * Aditya Chopra

) (D_) Farhan Akhtar

Whlch of the followmg is not
p(ov1ded in the Constitution ?
(A) Power of President to adapt

laws

~(B) Special provision of Karnateka

. (C)y GoVefnor of the Reserve Bank

of India

- (D) Governof of a State

- (Tumover)

) .
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63

64,

Employment

Durmg whose reign Capital was
shlfted from Kolkata to Delh: ?

(A) Lord Minto

(B) Lord Irwin

(C) lord CUrzoh’

'.(D) Lord Hardlng

Wh:ch state has become the best. -

performing -state both in terms of

allotting jobs and utilising funds under

‘the Mahatma Gandhi National Rural

- (MGNREGA) ?

65.

66,

(A) Andhra Pradesh
(B) West Bengal |
(€) Maharashtra

(D) Tamil Nadu

Who was the Vicer'oy_at the time of

Quit India Movement ? -

,(A) ,Lord Irwin -
: (B) Lord Mountbatten
{(C) Lord Wavel[\
(D) Lord Linlithgow

Who among the following is credited
“with formulating welfare economics
. and the sqcia! choice theory'?

(A) Amartya Sen

0Y - 2A/30

G;.i_a rantee Act

67.

- 68.

" (B) BimalJalan
' (C) K.N.Rsj

(D) Man Mohan Singh

‘Rajamannar Committee was

appointed to study ce’n'ter-stafe
relationa by whichJ government ?

(A)  Govt. of Tamil Nadu

('B)_l Gowt. of'Maharashtra‘

{C) A'Govt of Karnatak’ toe

(D) Got. of Punjab

Which of the following is not an

element of ‘Secular State’in india?

(A Civilequality

69,

' (B)-‘ Taxation on rellglous property

(C) Freedomofrehglon '

(D) No religious education by the

iostate’ e et

Which of the following Acts

introduced Bi-Cameral Legzslature at

" the central levelin India ? .

(A) _ Indian Cqu_ncﬂsAct, 1908

(B} Indian Govérnmenf of I’ndiaAc't,

1919

(C) The Government of India Act, -

' L .
I- 'l ‘.‘l_’-‘“'“!\

1935t vt i
(D) The Indian Independence Act,
1947

~ Contd,
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70.

T

72.

oY —2A/30

fDrscrlmmatlon on the’ ground of

religion is prohrbrted by the Indian
Cons't'rtut'ron under:

) Adicle 13

(B) Article 14

(©) Article 15

© Atticle 17

| Whrch one of the following is not a

corr_e,c_t statement concerning

powers of the Council of States in

india?

_ '(A) A Money Bill shall not be

 introduced in the Councrl of
States )

(B) The Council of States has no

power 10 vote money for the
pubhc expendrture

(C) Demands fof grants are not

submitted for the vot_e_ of the

Council of States .

(D)  The Council of Ministers is

responsible 10 the Council of

' States

A person is quahﬁed for appointment
as a judge of the Supreme Court of

lndra ifheor she

(A) Has been for at least three

~ years, a judge of a High Court

- 73

74.

(1)

(C) s,

(B) Has been for atileastﬁve years,'

an advocate ofa High Court '

m the opinion’ of the -

P,resrdent of India, a

distinguished jurist
(D) | None of these |

Se!eot th_e correct statement fromthe

following

A A V. Dicey propounded the

prmclple of Rule ofLaw

. (B), Rule of law lmplles equahty

before law
(C')‘ R_ule_ o_f'llaw entaits equal
' protection by faw
(D) Al of’thesef.

identify the incorrect statement

regardrng Presrdentral form of

‘Government

(A) The executwe head is

| rndependent ofthe Legrslature

(B) The_executlve head can be

_ impeached' | |

(C) Members of the Cabinet are
- not members of erther House'

of the Legrslature

- (D) There is no geparation of.

powers '

(Turn over)




76.

77.

75. Which of the following is not a correct

statement regarding unitary system ?

_ state and one Government

(B) There is a_constitutional
divisioﬁ' of poiwers between the

‘the Local

Central and

Governments ‘
(C) Local bodies derive their

poWer and autonomy from the

Central Government |

suited fora smail country - -

'Proceddrg estab;iished by law' is an
expression employed by the

'. Constitution of :
(A dndia

(B) America
(C) Canada
(D) None ofthese

(A) Inaunitary system, there is one -

79.

'- (D) Unitary system is particularly

80.

In which of the following cases the

Supreme Caiirf of* fridia“held
- harmony and balance between
fundamental rights and directive

principles is an ‘f.eature of the basic
structure of the Constitution ?

(A) Minerva Milis Case

(B) Indra Sawhne‘y Case_

(C) S.R.Bommai Case

(D) . Golaknath Case

OY -2A/30

81.

(12)

78.

Whlch amendment of the Consrtutton

.of Indian Ilmlted the number of

ministers :

Ay 731

(C) 42
(D) 91st
Which of the following Committee

recommended Panchayati Raj
Systent'in India ?.

(A) Dlnesh GOSWami Committee
(®) Biéiwant Rai Mehta Committee
~ (©) - Inderjeét Gupta Committee

(D) ProfessorMaheswari Committee
—\'Nh‘ibh }'gn.e of the’foHoWihg doés not
constltute basrc structure of the

Constttutlon ?

“(A) Rule of Law

.. (B) . -Sécularism_

(Cy Féderalism '

(D) Proclamatlon of FlnanCJa! o

Emergency

In Indla cntlzenshlp canbe acquired;

(A) Bybirth

(B) By registration

(C) By nat,uraiizat'i_oni

' (D)- Allof these

- Contd.




82.-

83.

84.

85.

The purposes of the ‘Bardoli
Resolution’ of the Congress Working

Committee was to: ‘
(A) Ask the peasants to pay taxes
(B) Askthetenantsto pay rents

(C)  Announce the withdrawal of - '

non-cooperation movement

after Chauri Choura incidents

(D) Aliofthese
Constitutional GoVernme’nt means
(A) Representative Govemment

(B) Lamtted Government

(C) Government according to the '

' Constltutlon

R

(D) Governmentbythe consentof |

the people”

Founder of All india’ Forward Block
during the Freedom Movement of

_ India was _ hid

A) Subhas Chandra Bose
(B) C.R.Das

(C) N.C.Kelkar |

(D) Chandra SekharAzad

Wthh of the foilowmg are included
in-the Directive Principles of State

Policy in the Constttutlon of India? .

(1) Umform Cwal Code for the

cmzens

ov;zglso

87..

(2) Separation of judiciary from
executive
(3) Protection of monuments of

natlonal |mportance

- Gelect the correct answer by using

the codes given below :

(A) 1and2

(B 2and3

€y 1 and 3
o) 1 2,and 3

The philosophioal postuiates of the

Consfitution of India are based on'

(A) NehruReport, 1928
- ®) Objective Resolution of Pandit

Nehru 1947

(C) Mahatma Gandhi’ s artlcle

“Independenoe m‘Young India”,
1922,
(D) Indian National Congress 's

Resolution for oomplete'

Independence, 1929

Who, amongthefollowmg, was nota -

member of the State Reorganization

 Commission (SRC) appomted by
_pandit Jawahartal Nehru?

(A) - Justice Fazi Al

(B) Potti Sriramulu

S (©) KM Panikkar

(D) - Haridayanath Kunzru

(Tumover)




88,

89.

90.

oY - 2N30

@

®

2

@

(C)
'(D)

A
(B

UnderArticle 368, the Parliament has
- 'no power to repeal Fundamental
* Rights because these are : |

En-shfrine_d in Part-3 of the

Constitution

Human Rights
(C).
()

Transcedental Rights

Part of basic structure of the
Constitution =~

Consiqer the foilowihg featufes :

Q)

Presence ofa nominal or tftular
head of state |

cabinet

3)

Accountablhty of executlve of
the legislature = ’

Separatlon of powers ’

Whlch of these are the features of a

2,3and4’
1,2,and4'
1,3and 4
1,2, and 3

B)

Collective responSIthfty of

~ parliamentary form of Government ?

The Dmesh Goswaml Commlttee ,

was concerned with :

| Dé-nationalizatipnof_banks :

Electora[reform. |

€)
in the north- east

(D)‘ ' The problems of the Chakmas

Steps to put down i msurgency ,

(14

‘.91-'»

93._' :

@

- The Indian Federation is based on
“pattem of :

w
®)
- (©)
(©)

SWItzerland
USA -
“Russia - -
Canada

Who said the “Indian Constitution

" established a um‘tarr'y_ state with

subsidiary fedral features rather .

than state with subsidiary unitary

features”?
(A) GranvilleAustin .
(B)

tvor Jenning

(C) B.R.Ambedkar
‘(D) K. C. Wheafe

WhICh ofthe followmg statements are

‘correct ?

(1 )

Balwant Rai Mehta Committee

" wasappointed in 1957
Ashok Mehta Committee
submitted its reportin 1977
G. V. K. Rao Committee
submitted its reportin 1986

3)

4 L. M. Singhvi Committee
~ submitted its report in 1987
,(A): 1,2and 3 '

(B) 1,2and4. )

(© '1,3and4, R
(D) 1and4 |

Contd.




04, Wthh of the fottowmg is not an

- 96.

(D)

element of ‘Secular State in Indra?
(A) Civil equality

(B) Taxationon religious property

©)

Freedom of religion -

state

Whrch one of the followrng Artrctes‘

, confers advisory jurisdiction on the

6.

97.

oY

(C)

Supreme Court ofIndia? .
(A) Article 141

@) Aticle 142

Article 143

©) Adicle 144 -

v nder
Parhament can make legrslatron on

which circumstances

state sub]ect ?

(1) When Rajya Sabha passes

PR PR
AL

F.—' .’ h
resolutron -

o
+

(2) During nat\onat emergency 7

(3) Onthe drrectrons of Supreme

Court-

&) When states make request

(&) 1,2and4
B 1and3
) 1and2

(D) 1.2, 3and4

73rd Amendment does not apply to -

the states of:

(1) Nagaland

_oN30

No religious education by the

@ ‘Mizoram -

(3)  Jammu & Kashmir

4) Meghalaya '

A 1and2.

®)y 1, 2and4
(C) 1,2,3and 4

. (D) 2and3

8.

The Charrman and members ofthe o

: UPSC hold offce forterm of:

(A) Three years

" (B) Fouryears

- {C). Fiveyears_" '

99.

(D) - Sixyears '

The CAG. of india can be removed

' from the ofﬁce onty in fike mannerand

on the like grounds as:

(A Chairman of the UPSC

- 100.

(1)

(B) Supreme Court Judge

(C)
(D)

Attorney General of India

Speaker of Lok Sabha :

Which one of the following is not a
salient feature of the Constttutlon of
tndra ? 7

(A) ‘ertten Constrtutron and
S_upre_ma_cy ofthe Constitution

B). | Quasl-federa!_ structure
(©)
)

Commrtted Judiciary

Distribution of Powers

(Tur_n over)




101.

- (©

© 102,

103.

(B
L ©
D)

104,

®)

- (D)

The term electora[ fatlgue means

(A) Physacal the
candtdates due to exhaustave

state’ of

- propaganda
Tenden cy of
'machlnery to work slow

Burdenon the state exchequer

due to heavy election expenses

frequency elections

electoral

Apathy of ‘th people due to

What should come in the place of “?”

in the given series ? The series is .

80000, 88000, 96800, 106480 ?
A) 117128 |

(B) 106875

(C) 106886

(D) 112875

B's cria,ugher is C who'is married to
D. D's son'is E; whose sister is F.
How isFrelatedtoB? .-

(A) Niece .
Granddaughter
Grandson '

_ Daughterln Iaw

Kishore put_s hls timepiece on the. = "

108.

table in such as way thatat4p.m, the

hour hand points to North. In which
direction the minute hand will point
at3:43p.m?

" (A) NorthWest

QY-

2A/30

(16)

NG . West -

105.

~ same time in opposite direction from g

(C) SouthEast
(D). East |

Two persons A and B start at the

~ two points. After pa‘ssin'g'each other,

~ they comAp'l‘et_e the-r'emaining jodmey

. in14.4and 32.4 hours respectively.

is:

@ 34
L (©) 1:4

The _raiio-'of _fhe‘épée&s of Aand B

(A) 3:2

@ 41

P's son Is R Ris ‘marr,ied T Ts

| daughteris U-How is R related to U ?

(B

107.

(A) Father ICCIRRY
Uncle -
Mother

Aunt

©)
D)

'What's'hou[d come in the place of “?"

‘-in the gwen senes'? ”
'200 229 260, 293, 328 365 404, 7?7 |
N (A)
- ®

L ©
D)

423
445
ag
‘52'5

-Contd. |




- 108.

©

109,
_m the given series 7

What éhduld come il:l the place of g
in the given é’eries._ ? .

9k, o7, n5i, k3h, hig, e-1?

A) c-2d '

(B) c-1d

d-2d -

(D) b-3e

What should come inthe place of “?"

837, 604, 575, 550, 529, 512, 499, ?

110,

11:

@

®)
(B)
©)
(D)

481
473 .
461
490

112,

If a train moves at the speed of 306

km per hour, then it's speed in meter
per second is 7 |
85 m/s

(B) 174m/s

(C) 153mis

(D) 23m/s

“A" leaves his office to reach park on
a bike. If he drives at a speed of
80km/hr, he reaches park 5 minutes

 earlier and if he drives at a speed of

. __Qy;

65 km/hr, he reaches park by 10

between his office and park ? - -

(A) 862/3km

2A/30-

114,

‘minutes late. Find the distance o

(17)

'_(C)'

113,

©

(B 751/4km
(C) 641/5km
(D) 741/5km

A boy walked 29.3 m to the South,
then he turns fo his left and walks_1 7.
m. He moves 12.3 m to his right,

“next he moves 17 m to his right,

Finally he tums to the left and moves
34.4 'm. How far is he from the

‘startmg pomt ?

CA)

42m

21m

434m

76'm e -

®)

©

Who was the only Sultan of Delhi,
who wrote his autobiographical

account ;

LA

Sikandar Lodi
'Feroz Shah ngiéq
Balban
lftutrish

®)

(D)

What should come in the place of “?"

in the given series :

- 856, 631, 800, 679, 760, 711736, 7

A) 731 .
(B)y 727

(©) 741

- (D) 723 -

(Turnover)




115.

116.

If ANGLE is coded as FRJINF, then

whatis the code for GREAT ?
(A) KUGBU

(8) LVHCV

(C) LVHCU

(D) KVHCU

Inthe folIoWir_rg quesﬁon, two worde
“are given. These words are related
to each other in some ways,
according to their differences or
- commonalities. Another word. is

between the first two words and

“choose the word. from the given

alte‘rrra'tives which bears the séme

~ relationship to the third word as the

* first two bear,

‘Ants : Nest :: Bees 1.7

117,

118.

QY -

(A) Herd
(B) . Flock
(C) Hive

(D) Family

Whose opinions have revoiutionized
the scope of macroeconomics 7

(A) Adam Smith

{B) J. M. Keynes

(C) Marshall

(D) Pigou

(B) Madya Pradesh
(C) Tripura
(D) Bihar

118. An underdeveioped economy is

given. Find out the relationship

122,
C (A

Tropic of Cancer doeen’t pass.

* through which state ?-
(A)  Gujarat

2A/30

(18)

- (®)

120.

121.

- (C)

)

®)

)

charactenzed by
(A) High percap;ta real income _
Large proportion of labour
force inthe tertiary seotor

State of depnvat:on of Iarge
proportlon of the populatlon

Low per caplta real income

Macronutrlent needed for plantis :
(A)
(8)
() Zinc

Copper

[ron

(D) Potassium

National Expenditure midybe equalto:

(A) National Income

National Income -%: Taxes

(C)' National income—-Taxes

“National Income + National h
Savings

BHAT is the currency of -

Thailand

(B) Brunei'

()]

(D).

Maldives

Denmark

Contd.




123,

(B

124.
L (A)"

- 125.

126.

- Organisation ?

(D)

‘Which method of calculating National

Land, Labour, Capital and
Income Method

Production Method

(A)

(C)
(D)

Expénditure Method
Source Method
Microeconomics is concerned with :
The economy as a whole .
The electronics industry

The- stidy of individual

economic behaviour

®)
(©)

The interactions within the

entire economy

-Income, relates to different factors ?

127,

128,

In 1894, the Gandhian plan based
upon Gandhian philosophy was

.- presented by

(A) . Shriman Narayan/;\garWai'
(B). P. Mahaianobis

(C) IndiraGandhi'_

(D) JawaharLalNehru

The lgovernme.nt introduced an
agricuttural strategy which give rise

to green revolution in India, this is

* with regard to which plan ?

oY —-

(A) Sixth Five Year Plan

(B) Secohd Five _Yeaf Plan

2N30

- 128.

(19) . -

©

unemployment ? -

(C) Third Five Year Plan

(D) _FirstFive Year Plan -

What is National disposable income ?
(A) It refers to acquiring of final

- goods and services not through

regular market transactions

(B) - Itreferstothe fncomé which is
availab_lé tb the whole economy
for spending or disposal

it referé to the flow of goods and
services between sectors of

economy
(D) It refers to the flow of money -
* between sectors of economy’
The statement, “Underdeveloped

countries are the slums of the World

Economy,” is given by :

(A) AN Céirncross

(B) David Ricardo
(C} Ragnar Nurkse

(D) G Mrydal
Which economic concept deals with
relationship between inflation and

L]
o

(A)

(B)
(C)

Phillips Curve
Marshall Concept
-Demand and Subply ‘
Wants an_d Demands

(Turnover)
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130. The neoclassical of economic

growth ;-

(A) Assume that there is a single

homogeneous good produced '

- by capital and labor
(B) Was original[y.conceive'd of by
~ Robert Solow - |

(C) Was originally conceived of by

Adam Smith

(»)

- homogeneous good produced
on[y by Iabor S '

131, Which of the following is-a

‘Assumes that there is a single - |

- CORRECT proposal -of Cripps. .

. mtssion ?
(A) Setti-n‘g up ~an . Indian
_ Consultative Committee
(B) Const.itu'e'ntl as_semb[y to be
formed | '
(C)y Establlshlng a was Advusory
" "Council

(D)

Majortty Prownces

Formation of two new Musllm__

.132.. As per the indian History', “The AR‘evolt _

of 1857”is referred as :
(A)
(B)
©)
©)

Waghera Rising
Second Wair of Independence
First War of Independence

Mutiny of Vellore

133.

134.

1

The Brltlsh Prime Mmlster Atlee
announced to withdraw from India by
the end of :

(A).August,1947 '
(B)‘ June 1948

()
(D) June1950

August 1949

-The “Direct Action Day was -

announced by the MUS|Im LeagUe for

the demand of Pak[stan on:

®-

Aug 16, 1946
(B) Jan 10, 1949

(C) Sepi5,1948

O Aug10 1945 f

135,

(A
(B)
-(C)

136.

(©)

(20). -

The Aravalh Range passes through |

which’ of the fotlowr_ng_states in -
indla? .

Haryana
_B|har
~'Maharashtra

(D) Madhya Pradesh

Chambal river flows through which of

“the fol!owing'piateaus of Peninsular
India? I

Matwa PIateau

A)
(B)

Deccan Plateau .
Chota Nagpur Plateau
(B)

North- Eastern Plateau

Contd. -




- 137.

138.

(A

- ©
e

®)

!

Which Union Terntory is also. the.

- capital of two states in | nd[a ?
Shimla |
‘Chandigarh
Dehi -
' Puducherry l

®)

The Point Calimere Wildlife

Sanctuary was created in the year

1967 for the conservation of which
' .,,‘.__endangered species of Indla ?

(A) Spotted Deer _ .

Snow Leopard
(C) - Blackbuck

- (D) Black-naped hare

139.

‘Which of the foHowmg s a"

' charactenstrc of anthropology ?

N

©

140.

oY -

blology and culture -

(B) It is concerned with human

variation,
"adaptatron o

It focuses only on- prehlstorlc

societies
(D) (A) and (B)

The absence ofa mamage rule that }

is a system wh[ch is nerther

Endogamous nor Exogamous iS

(A) Polyandry ‘
(B) Polygamy
(€) Agamy
(D) Noneofthese

2A/30

It is concermed wrth both hurman -~

evolution ;and )

141..

Eskimo’s are living in :

(A) America

- (B) Canada

142,

(© Afica

(o) ASIa |

The specrat norm that a person must

 marry someone—who is within his or

o
(B)

- (©
Ny

143.

her group is called :
Endogamy

Group marriage_' . '
Exogamy . .-

Polyandry

‘Which of the following is a subject

that. anthropologlsts would potentrally

: astudy ?

L ®
(6
O

144,

@)

The retiglons and myths of
* Australian Aborigines -
Health carein the United States
‘Ancient Native American
 Villages -

((((((

" Allof these ,

The study of human origins and ‘

b[ologlcal d:versrty is

(A) Archaeology

‘(B)' Paleoanthroooiogy '

(C) Physical Anthropology-

(21).

(D) - ForensicAnthropology

-+ (Turnover)




145. In a biotic cbmmunity the prirhary

146.

147.

(C) Ilron

conSumers are:

(A} Carnivores

(B) Detritivores

- (C) Herbivores

Omnivores

(D)

Chlorophyll is a naturally occurring
chelate compound in which central
- metatlis: '

(A) Copper
(B) Magnesium

. 4
Calcium

D)

In —..___ the First National'

Trade Union Organization (The Al

~India Trade Union Congress
~ (AITUC))was established.

®) 1904

. (B) 1908

oY -

(C) 1917

D) 1920

148,

149.

-150..

LI

AgaihSt Lord and State was written
by : '
(A) Sumit Sarkar
(8) R.C.Majumdar
(C) Panikkar K. N.
(D) K. K. N, Kurup

Who is the following Governor

Generals is associated with
SubsidiafyAIIianquystem?‘ -
(A) Lord Comwallies

(B) LordWellesley.

(©) |
(0)

The title of 'Viceroy' was atided to the i

Lord Mayo

Lord Delhousie

centre of the Governor-General of

india for the first time in -

. (A) 1848A.D

(B) 1858A.D

1862A.D
1856 A. D

(C)
(D)

2A/30

(22) |
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